
"world" <-
structure(list(Continent = as.integer(c(1, 4, 1, 3, 5, 1, 4, 
1, 2, 2, 3, 2, 3, 2, 1, 4, 3, 2, 2, 1, 1, 1, 1, 4, 2, 3, 3, 1, 
3, 3, 3, 2, 3, 3, 1, 3, 1, 3, 1, 1, 4, 1, 4, 4, 4, 1, 4, 4, 4, 
4, 3, 3, 2, 4, 3, 3, 1, 3, 3, 1, 5, 1, 2, 4, 2, 4, 1, 2, 3, 2, 
3, 4, 3, 3, 1, 2, 3, 3, 1, 4, 1, 3, 4, 3, 3, 4, 3, 3, 3, 4, 4, 
2, 4, 3, 1, 2, 3, 3, 3)), Country = structure(as.integer(c(7, 114, 
2, 4, 6, 9, 8, 13, 42, 12, 14, 24, 55, 16, 98, 20, 95, 21, 23, 
25, 36, 35, 26, 57, 27, 10, 3, 94, 56, 100, 106, 30, 29, 31, 
33, 34, 38, 37, 39, 44, 43, 51, 50, 45, 47, 49, 48, 53, 54, 58, 
62, 67, 69, 70, 71, 64, 78, 41, 75, 73, 74, 86, 81, 80, 83, 84, 
85, 82, 17, 19, 41, 46, 63, 66, 87, 108, 15, 88, 97, 89, 32, 
90, 110, 96, 99, 101, 18, 102, 104, 105, 107, 109, 112, 77, 115, 
111, 117, 116, 118)), .Label = c("Afghanistan", "Albania", "Algeria", 
"Angola", "Argentina", "Australia", "Austria", "Bangladesh", 
"Belgium-Luxenburg", "Benin", "Bolivia", "Brazil", "Bulgaria", 
"Burma", "Burundi", "Canada", "Central African. Rep.", "Chad", 
"Chile", "China", "Columbia", "Congo", "Costa Rica", "Cuba", 
"Czechoslovakia", "Denmark", "Dominican Rep.", "Ecuador", "Egypt", 
"El Salvador", "Ethiopia", "Finland", "France", "Gabon", "German DR", 
"Germany", "Ghana", "Great Britain", "Greece", "Guatemala", "Guinea", 
"Honduras", "Hong Kong", "Hungary", "India", "Indonesia", "Iran", 
"Iraq", "Ireland", "Israel", "Italy", "Jamaica", "Japan", "Jordania", 
"Kamerun", "Kenya", "Korea", "Kuwait", "Laos", "Lesotho", "Liberia", 
"Libyan", "Madagaskar", "Malawi", "Malaysia", "Mali", "Marocco", 
"Mauritania", "Mexico", "Mongolia", "Mozambique", "Nepal", "Netherlands", 
"New Zealand", "Nicaragua", "Niger", "Nigeria", "Norway", "Oman", 
"Pakistan", "Panama", "Paraguay", "Peru", "Philipines", "Poland", 
"Portugal", "Romania", "Rwanda", "Saudi Arabia", "Senegal", "Sierra Leone", 
"Somalia", "South Africa", "Spain", "Sri Lanka", "Sudan", "Sweden", 
"Switzerland", "Syrian", "Tanzania", "Thailand", "Togo", "Trinidad", 
"Tunisia", "Turkey", "Uganda", "United Arab. Emirates", "Uruguay", 
"USA", "USSR", "Venezuela", "Vietnam", "Yemen", "Yemen Democratic", 
"Yugoslavia", "Zaire", " Zambia", "Zimbabwe"), class = "factor"), 
    PopGrowth = c(-0.1, 2.8, 1.8, 2.8, 1, -0.1, 2.5, 0.2, 3, 
    1.9, 2.3, 0.8, 3.3, 0.7, 0, 1.4, 1.5, 1.8, 2.1, 0.3, -0.3, 
    0, -0.1, 2.1, 2.1, 3.4, 2.9, 0.4, 3.9, 3.4, 3.2, 1.9, 2.2, 
    2.9, 0.4, 2.8, 0.1, 3.1, 0.3, -0.1, 1, 0.1, 1.4, 1.8, 3, 
    1, 3.6, 0.5, 3.1, 2.9, 3.6, 2.2, 2.1, 2.4, 3, 3.3, 0.2, 2.4, 
    3, 0.3, 0.6, 0.3, 1.8, 3, 2.1, 2.3, 0.6, 2.5, 2.9, 1.2, 2.4, 
    1.8, 3.2, 2.9, 0.5, 0.7, 3.1, 3.7, 0, 3.8, 0.2, 3, 0.7, 2.9, 
    3.3, 1.6, 2.5, 3.3, 2.2, 1.9, 2.8, 0.6, 2.4, 3.3, 0.5, 2.2, 
    3.4, 3, 3), GiveBirth = as.integer(c(48, 46, 50, 46, 51, 48, 
    46, 47, 44, 50, 46, 55, 43, 53, 44, 54, 52, 52, 52, 46, 49, 
    47, 49, 54, 50, 45, 44, 47, 41, 44, 44, 45, 49, 46, 48, 49, 
    48, 43, 47, 46, 54, 48, 48, 48, 46, 47, 44, 51, 43, 46, 44, 
    46, 47, 48, 44, 41, 48, 47, 45, 52, 52, 49, 50, 47, 49, 49, 
    48, 49, 47, 53, 46, 49, 44, 45, 47, 46, 46, 44, 47, 44, 47, 
    45, 48, 54, 42, 52, 48, 45, 44, 49, 45, 52, 48, 44, 51, 49, 
    44, 43, 41)), Women = as.integer(c(110, 103, 97, 103, 99, 
    104, 95, 101, 99, 100, 100, 97, 103, 101, 103, 94, 97, 100, 
    98, 105, 108, 110, 102, 102, 99, 108, 101, 104, 101, 103, 
    102, 99, 99, 99, 103, 105, 104, 101, 103, 106, 90, 105, 99, 
    94, 96, 99, 97, 103, 94, 74, 85, 100, 100, 100, 105, 103, 
    101, 94, 101, 101, 100, 110, 96, 91, 101, 98, 104, 100, 107, 
    101, 105, 101, 101, 108, 102, 103, 105, 104, 101, 84, 107, 
    101, 112, 98, 96, 99, 103, 108, 103, 97, 47, 105, 105, 102, 
    103, 99, 103, 103, 100)), LifeexpF = as.integer(c(77, 51, 
    75, 45, 80, 78, 50, 75, 66, 68, 61, 77, 58, 80, 80, 70, 72, 
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    68, 76, 75, 78, 75, 78, 71, 68, 52, 63, 79, 59, 55, 49, 66, 
    63, 48, 80, 54, 78, 56, 79, 75, 79, 79, 77, 56, 59, 76, 65, 
    81, 67, 75, 63, 62, 72, 66, 49, 47, 80, 54, 63, 80, 77, 76, 
    74, 51, 62, 65, 76, 69, 51, 75, 43, 58, 55, 48, 73, 74, 50, 
    50, 80, 65, 79, 49, 73, 51, 66, 66, 46, 54, 55, 67, 71, 79, 
    68, 52, 74, 73, 54, 54, 60)), LifeexpM = as.integer(c(70, 
    49, 68, 43, 75, 72, 51, 69, 62, 62, 58, 73, 54, 73, 74, 68, 
    68, 63, 71, 66, 72, 68, 73, 65, 64, 48, 60, 73, 56, 51, 46, 
    57, 59, 45, 74, 50, 72, 52, 74, 67, 73, 74, 73, 57, 59, 71, 
    62, 75, 63, 71, 61, 58, 65, 62, 46, 44, 74, 51, 60, 74, 71, 
    70, 70, 52, 59, 62, 68, 65, 48, 68, 41, 55, 52, 45, 68, 68, 
    47, 47, 74, 61, 72, 46, 64, 47, 62, 62, 44, 51, 51, 62, 67, 
    71, 63, 49, 68, 66, 51, 50, 56)), InfMort = as.integer(c(10, 
    142, 41, 139, 10, 10, 121, 15, 72, 65, 64, 14, 96, 8, 7, 
    34, 29, 47, 18, 14, 9, 9, 8, 25, 67, 117, 77, 11, 74, 108, 
    105, 61, 88, 155, 8, 105, 9, 89, 12, 19, 8, 10, 12, 86, 109, 
    9, 71, 6, 46, 19, 85, 85, 48, 47, 120, 153, 9, 64, 65, 8, 
    11, 18, 24, 111, 90, 46, 18, 43, 134, 20, 148, 87, 130, 144, 
    26, 28, 114, 116, 6, 64, 6, 130, 30, 108, 50, 41, 134, 96, 
    108, 79, 33, 10, 47, 104, 27, 37, 82, 100, 74)), "InhabDoc" = as.integer(c(440, 
    7110, 2100, 13150, 520, 370, 370, 400, 3100, 1300, 4930, 
    720, 13990, 550, 390, 1730, 7460, 2500, 1440, 350, 420, 490, 
    420, 1390, 1400, 1710, 2630, 360, 10120, 21700, 21270, 2550, 
    760, 88150, 460, 2550, 680, 6680, 390, 390, 1290, 750, 400, 
    3700, 2900, 770, 1810, 740, 1190, 700, 620, 18570, 1210, 
    400, 36970, 52830, 460, 15610, 2230, 480, 610, 500, 1010, 
    2910, 1440, 6850, 550, 1440, 22530, 1390, 56170, 12330, 9920, 
    26030, 700, 500, 55910, 32150, 410, 1800, 460, 13070, 270, 
    9810, 2190, 6870, 72480, 21140, 21700, 1530, 720, 500, 4110, 
    9400, 700, 1000, 7800, 13430, 7100)), Calorie = as.integer(c(3440, 
    2255, 2716, 1912, 3302, 3679, 3679, 3593, 2224, 2657, 2508, 
    3088, 2080, 3443, 3406, 2620, 2485, 2588, 2807, 3473, 3519, 
    3769, 3489, 2806, 2350, 2248, 2799, 3303, 2214, 2316, 2483, 
    2155, 3275, 1704, 3358, 2448, 3148, 1785, 3637, 3544, 2692, 
    3493, 3019, 2126, 3115, 3530, 2891, 2695, 2968, 3102, 3585, 
    2729, 3126, 2814, 1617, 2415, 3171, 2145, 2464, 3348, 3393, 
    3122, 2423, 2180, 2120, 2260, 3224, 2120, 2059, 2544, 1731, 
    2476, 2452, 1810, 3413, 2791, 2233, 1935, 3007, 3057, 2961, 
    2418, 3332, 2168, 3235, 2399, 1733, 2221, 2316, 3218, 3652, 
    3682, 2281, 2139, 3499, 2485, 2126, 2151, 2144)), BabyUnderw = as.integer(c(6, 
    12, 7, 19, 6, 5, 5, 6, 9, 9, 7, 8, 13, 6, 5, 6, 25, 10, 10, 
    6, 6, 6, 6, 9, 15, 10, 12, 1, 18, 12, 10, 9, 0, 10, 5, 16, 
    7, 15, 6, 10, 8, 7, 7, 30, 4, 4, 15, 5, 10, 7, 5, 9, 15, 
    10, 16, 20, 4, 25, 15, 4, 5, 8, 8, 18, 9, 15, 8, 9, 23, 7, 
    18, 14, 11, 13, 6, 8, 14, 17, 4, 6, 4, 10, 6, 15, 9, 12, 
    11, 17, 12, 8, 7, 7, 25, 25, 7, 9, 2, 9, 15))), .Names = c("Continent", 
"Country", "PopGrowth", "GiveBirth", "Women", "LifeexpF", "LifeexpM", 
"InfMort", "InhabDoc", "Calorie", "BabyUnderw"), row.names = c("a", 
"adn", "al", "ang", "aus", "b", "bd", "bg", "bh", "br", "bur", 
"c", "cam", "cdn", "ch", "chi", "cl", "co", "cr", "cs", "d", 
"ddr", "dk", "dko", "dom", "dy", "dz", "e", "eak", "eat", "eau", 
"es", "et", "eth", "f", "g", "gb", "gh", "gr", "h", "hk", "i", 
"il", "ind", "ir", "irl", "irq", "j", "jor", "kt", "lt", "ma", 
"mex", "mgo", "moc", "mw", "n", "ngu", "nic", "nl", "nz", "p", 
"pa", "pak", "pe", "pi", "pl", "py", "rca", "rch", "rg", "ri", 
"rm", "rmm", "ro", "rou", "ru", "rwa", "s", "sa", "sf", "sn", 
"su", "sud", "syr", "t", "tch", "tg", "tn", "tr", "uae", "usa", 
"vn", "wan", "yu", "yv", "z", "zre", "zw"), class = "data.frame")
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